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(Code No.: SY 17)
HIGHER SECONDARY
FIRST TERMINAL SECOND YEAR EXAMINATION -2018-2019
CHEMISTRY
Maximum : 60 scores
Time : 2 Hours
HSE 11 Cool off time : 15 minutes
- ™\

General Instructions to Candidates:;

o Thereis a ‘Cool off time’ of 15 minutes in addition to the writing time.

o Use the ‘Cool off time’ to get familiar with questions and to plan your answers,
*  Read the instructions carefully

o Read questions carefully before answering

o Calculations, figures and graphs should be shown in the answer sheet itself.

e Malayalam version of the questions is also provided.

o Give equations wherever necessary.

o Electronic devices except non-programmable calculators are not allowed in the examination hall.
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o MldGhes MaODIn’ igoea 15 Amly° 808 60" 9650 HaRIONGILeJo.

o B0 60l O6S0 ColIFI6TRIT ni@lal@OLISIMI0 DOMBETRIT @R TUFMEMo 6.2/QIMIo DalCWINE6]H.

o MMHER0e6TBIT 97930100 (003UIIITYo UIBIORE..

o DOMEEIBIT PDSIVIM@IN 9301 21660808 ((8RVIIIBQYe UIVIE86Mo.

o BANGE BISLYHET, 2MDBT, (0Ia0)BWT PN HODEEILINCT DO 9EIVNGIG6Mo.

o ColIB6ORYT QRIWIBOMILI)0 MUTLID]SI6TE.

o OBQBYIIES MUALIOD) TIIIGEIRIT 6)6I5]66)6Mo.

o BlalI0INIBT 620QPINISIOD SITILICRINNIGIT G910 WIEE BB] LDAIS CISINS Bald@ENN0
al@18219.006100 9ate@INNE8INT alISIE.

. J
Question 1 to S carry 1 score each. 1 23@@ 5 WOE MMISIES oML} 621IB)60B3LH30
Answer all the question. (5x1=3) DOMEHALIMIS. RICEIMIMIo 1 MESIA ailo
(5x1=135)
1. From the following solid which is 1. @anl53es aleamimenglol @p(elnifleiwo
amorphous ? aBO?
(Sodium Chloride, diamond, metals, | (el 6EIOAOM, Ql(SRo, BEIINEIRIY,
glass) M aiSlro)
2. Which of the following concentration L2 omilgiesauolod dmlm] 0womId mpwl
term is independent of temperature. M EHH ARSI OIUWOMOW Mailefloazm
| alBEAD?

(Molarity, Mass/Volume percentage,

Volume percentage, Molality) (©2082610] 200y 0)dal® BDAIMo,

| QUoa® B®2IM0, §2I82/))

| .
3. Molecularity of the reaction | 3. 2NO+0,—2NO, s (al@il{aioi@ommoian
|
|

2NO+0,—2NO, is €20818,3ealflie .................
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Give an example for
Lyophobic Colloid.

is a synthetic Zeolite used for
converting alcohols to gasoline.

Question 6 to 19 carry 2 score each.
Answer_any 11 questions. (11x2=22)

5.

State Henry's law and give two important
application?

Sea water freezes at lower temperature
than distilled water but boils at higher
temperature. Give reason.

If 30ml! of 0.5M H,SO, solution is
diluted to 500ml. Calculate the molarity
of new solution?

A°m for NaCl, HCl, CH, COONa are
126.4,425.9 and 91.0 Scm? mol™!

respectively. Calculate A°m for
CH, COOH

4, enoe allseuleaiesiviuilay
803 HRIANGEMo NYIMIH:.

5. GROI6NcanIB3&eg 6Iamelmiss 29I
DaleWIEONIM SyY(O2 MewInBRINIE ...

6 23O@3 19 UG C21IBjEURMISS 2 MEIB aflmo
aBOOBIAIZ0 11 621I3)60R(3 86 HOMBOAYIMIE:.
(11x2=22)
6. 60 M2 (piVOINen3e, O Hloa
OO (alWIM (IEWINETRBI0 n)9IME?

7. &S0b, ®el, enisle6ly Relooienioiem
6060 @Y mamlavlod eimizaileagm;.
oM@ 9QAM Mol oigwen]
S0I0 02lYIMNI SIGEMo ANRRAISHH:.

8. 30ml 0.5M ¢20818 H,SO, enwlew
500 ml erigs) emdellongmyenisos.
13030 alklg) LLOMOIHS H2826(
SEMENIONH.

9. NaCl, HCI, CH, COONa adMIQI®36s A°m
2380 WLAI(&0 126.4, 425.9, 91.0
Sem? mol! @Rem. aP&Xlad CH, COOH e
A’m 238lJo SEMENISEIH.

10. State Faraday's laws of electrolysis. 10.  aDIEEWIVIOS BeMURIOAIERM Ml
6080 (@O E636:.

I1.  Write electrode reactions and cell 1. AI|AP*||Cu | Cu oD 6OE0R
reaction of the cell? a6 (O (nlBODMETBE30,
Al|AP*|| Cu* | Cu ' DM (T2l UBODMIZ0 oDEIOIH.

12.  Differentiate between order and 12, 60wa, e20glengendld «pmiuwies
molecularity? QYOPIMo a)OIOF?

13. Inversion of cane sugar is a pseudo first 13.  HEMIM emmICWINS (a106RINAM 66}
order reaction. Give reason? Hals BMl I (O udmmmadsm

&I@6Mo NlBRAIEH) G .

14.  Derive the relation between rate constant 14 oo R6WE (aofadomnomlen
and half life period of zero order mlees mdlea@ 3o, ARARIVITYI
reaction? | 02e13e8 Mo AY3MaAleen]e?

I5.  What is the order of decomposition of ‘ 15. ol pOdGEEOTAT (Oeione)es
ammonia on the surface of platinum @re226MOW3es aleaismamian aidand
catalyst? Give another example having ‘ «PIOIET? De® BIBWLIIES 2601603
the same order ? 9BaNEEMo o YIMIE.

6. What is the difference between 16.  @pWlerIHeMo, @R©IReMo DI M2leies
adsorption and absorption? Give one QYOYIMo oOD? BIERI HRIaNEEMo AlDo
example for each aDOIMIG.

7. Explain the selectivity of catalyst using 17,  OME(ASHETBEINS AUIGEMITLSD
examples ? ORINGEMEIR DalewItgl ANBR2IGOIE.?
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18.

19.

a) Arrange the following ions according
to the increasing order of efficiency of
coagulation ?

Cl, PO, SO
b) Give the name of the rule related to

above arrangement.

Ilustrate the role of depressant in froth
floatation method ?

Question 20 to 28 carry 3 score each.

18.

19.

of) OATISIE8 EREWIMIHO8 @RAIWINS
MHBMAHAOWIOS EHBRINEM (200D
(521661660362

Cl,PO,>,80.*
onll) iegoal (£216e6Mm12I0) MIMDETS
rlo2omend 6al@ aD9IMS:.

al@gyim (aloidomMOUed 2031806188365
WoLo HRINGEM Mabl@o ONlRBAILES ?

20 23@@ 28 (eR caIB)ERW@AE 23am" MEeSIB alme

Answer_any 7 questions. (7x3=21) BOOBIE0 T €21Y6B1L6 DOMENALIM3H.
(7x3=21)

20.  Explain the reasons for the following. 20.  OMIgABUWINS HIEMERE AHRAIGNIS.
a) White ZnO becomes yellow on o)) OAISIOM ZnO-6M 213510H36MI03
heating (2 score) 260 MO0ILIGIM]. (2 score)

b) FeO is non stoichiometric and has ol FeO eom ermalacsmdoiwas oot
approximate composition F €00 mmﬂmﬁu PBBRR ~RIS@IMIalIo Fe, (O
sz adamaem. (1 score)

21.  An element with molarmass 2. @@®aflembo 2.7 x 102kg mol” 988 6@}
2.7 x 102kg mol"' form a cubic unit cell 238160, WGOEDOM MIgo 405 pm @R WIS
with edge length 405 pm. If its density 803 ygmnile’ wemly amad pamisnzm;.
is 2.7 x 10°kg m™. What is the nature of Dolead momo 2.7 x 10°%kg m woar. @
cubic unit cell. z6mily oMo pO3 MeOHe3gsmIUEleng0.

22.  Derive the edge length, radius relation of 22.  b.c.c. ~aismW3ns aisslong migaigo, GRG0
b.c.c. structure. M21LI3R8 MIMo Q3O3R £636:.

3. Explain the following concentration 23, Omilgies MWOeW Mallelenim IReRe
terms. ‘ AlRR2IS0H.

a) molarity b) molality o) ©23826191 nil) 29824091
¢) molefraction M) €99695)mo

24. a) State Raoult's Law (1 score) 24, o) 0968 MWDo (W DI NE03E (1 score)
b) The value of Vant Hoff factor 'i ' for ) KC o0f seiio cownlwges o
aqueous KCl solution is close to 2, while 6Nl iSOG ' i ' 9380 2- "
the value of ' i ' for ethanoic acid in @RSITDJo, aDNIOT OEINTTIMIOAI
benzene is nearly 0.5. Give reason. o)0emIVNe" @M’ LuOmIHS ' i !

(2 score) 24240 0.5- M @RSIOMIAIET. SIBENo
18322666 (2 score)

25.  Explain the working of lead storage 25.  ealw misnienst mgAwns (alaidammo
battery. 0 %R2I6016:.

26.  What is Tyndall effect ? Write two 26, (SIBWA (wlBRIN0 aMITD aOD?
conditions to takeplace Tyndall effect. (SIBWE (alRIe MVIWJ2IENIMOAMIES G

MIaD 2l Q6B o) 9IIH.
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27. a) Discuss the effect of pressure and
temperature on the adsorption of gases

on solids. (2 score)
b) What is Freundlich absorption
isotherm (1 score)

28. Explain leaching of alumina from
bauxite ?

Question 29 to 32 carry 4 score each.
Answer_any 3 questions. (3x4=12)

29. a) Explain the conductance of solids
based on energy bands (3 score)

b) What is n-type semiconductors
(1 score)

30. What is corrosion? Explain the
mechanism of rusting of iron?

31. a)Reaction of molecularity greater than
three are rare. Give reasons ? (I score)

b) The rate constant of a reaction at
500k and 700 k are 0.02S! and 0.07S"!
respectively. Calculate the values of Ea
and A (3 score)

32, a) Explain calcination and roasting with
suitable examples (2 score)

b) Explain Hall - Heroult process
“v (2 score)

27, o)) QUIOBEIBEIOS 6lBIBITMOTREIL]58
@13 WIE18 MO 2CROMIMJ0 @Int@DIM]
2088 M)IWIMo 2lly) 21Q367 (2 score)

6/]) (0081 9] @BWIEGaISHE
MADIad] aDNITT opOD)” ? (1 score)

28.  cISOOMGE MM @RAIIAINWINS
pilgflets’ Qiler2368636:.

29 23 32 AUOE CaB/MREdos 4 MEeIA alime
AROMBIRIZ0 3 21IR)EMRIISE HUMEH29IMS.
(B3x4=12)
29. o)) OV0LEMISHEINS GRSIMLOIMTTICT
6UBIRITMOETBEIONS 21ILIGM UBRIIGE]S.

(3 score)
)0 - 965 GRORY 21RIG60RT oNITY
D"

(1 score)

30, 8ENANMIRMo adMIT a(D?

D63 M3e3mienimalean (&lwiniul
ABRAIOEIS.

3. ) BT £35)O0T €2081667£061010356
(O UOTDMETBIT UGBIIT, &IG6Mo
NS5 (1 score)
) 664 (O atudommamloag 500k mleige
700 k mleijo 988 mless” maleIoemid
WinIH20 0.025" 930 0.075 ©30 @R6m.
DY (OO momlong Ea 236030
A 238)013c SEMENINHH. (3 score)

32. o)) SICBWIEMT, cOINE0R aPTUO@
@RMICWIYIQ HBINGET) MWalDo 1637

2I56)] (2 score)
M) 0200 - ©aNCOITS (al(S)W
08R2IBE6]H. (2 score)
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